pasmep

Macca

= =
S npodwunsa, %o Mapka mate- S o< > obuian
. T 2 wupuHanm = L >3] 2 5 (kr./
HaumenosaHue / Title 5 € ) ~|puana/Material | ¢ g £ §
O [ anamerp / profile © % 9| § S|Total
A T omak |2 E|S [
=4 size, width or H o weight
diameter = - ke
1 | O ®33,4x4,5 (1") ASME B36.10M 4.50 & 334 6000 SA 333 Gr.6 R.M 6.0 19.2
2 | O ®219,1x8,18 (8") ASME B36.10M 8.18 $ 219.1 6000 SA 333 Gr.6 R.M 6.0 255.3
3 | O 9168,3x7,11 (6") ASME B36.10M 7.11 ¢ 168.3 6000 SA 333 Gr.6 R.M 6.0 169.6
4 | O ©355,6x9,53 (14") ASME B36.10M 9.53 ® 355.6 6000 SA 333 Gr.6 R.M 6.0 488.0
5 | O ©88,9x7,62 (3") ASME B36.10M 7.62 ¢ 88.9 6000 SA 333 Gr.6 R.M 6.0 91.6
6 | O ®114,3x8,56 (4") ASME B36.10M 8.56 ® 1143 6000 SA 333 Gr.6 R.M 6.0 133.9
7 | O ©273,1x9,27 (10") ASME B36.10M 9.27 ¢ 273.1 6000 SA 333 Gr.6 R.M 6.0 361.9
8 |Bolt M12x50 ASME B18.2.3.5M galvanized SA-320 Gr.L7M pc | 10394
9 |Bolt M12x80 ASME B18.2.3.5M galvanized SA-320 Gr.L7M pc 60
10 |Nut M12 ASME B18.2.4.1M galvanized SA-194M Gr.7M pc | 20908
11 |Anti-vibration washerMm12 galvanized pc 86
12 |Bolt M16x60 ASME B18.2.3.5M galvanized SA-320 Gr.L7M pc 1640
13 [Bolt M16x80 ASME B18.2.3.5M galvanized SA-320 Gr.L7M pc 34
14 |Bolt M16x100 ASME B18.2.3.5M galvanized SA-320 Gr.L7M pc 3
15 |Nut M16 ASME B18.2.4.1M galvanized SA-194M Gr.7M pc 3346
16 |Bolt M20x80 ASME B18.2.3.5M galvanized SA-320 Gr.L7M pc 1214
17 (Nut M20 ASME B18.2.4.1M galvanized SA-194M Gr.7M pc 3920
18 [Bolt M24x100 ASME B18.2.3.5M galvanized SA-320 Gr.L7M pc 70
19 [Nut M24 ASME B18.2.4.1M galvanized SA-194M Gr.7M pc 236
20 |Bolt M30x120 ASME B18.2.3.5M galvanized SA-320 Gr.L7M pc 272
21 [Nut M30 ASME B18.2.4.1M galvanized SA-194M Gr.7M pc 304
22 [Bolt M36x140 ASME B18.2.3.5M galvanized SA-320 Gr.L7M pc 12
23 |Nut M36 ASME B18.2.4.1M galvanized SA-194M Gr.7M pc 24
24 [Nut M8 ASME B18.2.4.1M galvanized SA-194M Gr.7M pc 2120
25 |Washer 20 GOST 11371-78 galvanized Cr.3 380-94 pc 1302
26 |Washer 8 GOST 11371-78 galvanized Cr.3 380-94 pc 264
27 |Washer 16 GOST 11371-78 galvanized Cr.3 380-94 pc 74
28 |Stud M24x150 ASME B18.31.1M galvanized SA-320 Gr.L7M pc 48
29 |Stud M20x325 ASME B18.31.1M galvanized SA-320 Gr.L7M pc 28
30 |Stud M20x300 ASME B18.31.1M galvanized SA-320 Gr.L7M pc 124
31 |Stud M30x460 ASME B18.31.1M galvanized SA-320 Gr.L7M pc 8
32 [Nut M30 ASME B18.2.4.1M galvanized SA-194M Gr.7M pc 16
33 |Washer 30 GOST 11371-78 galvanized Cr.3 380-94 pc 16
34 [Bolt M20x65 Halfen HZS 53/34 SA-320 Gr.L7M pc 24
35 [Stud M20x280 C kancynoii co cmonoi HILTI HY 150 SA-320 Gr.L7M pc 408
36 |Anchor bolt M16x280 Hilti HIT-HY 150 SA-320 Gr.L7M pc 32
37 |Anchor bolt M20x170 Hilti HIT-HY 150 SA-320 Gr.L7M pc 10
38 |Stud M20x220 ¥ Kanycna co cmonoin HVU pc 60




39 [Anchor bolt M20x170 C kancynoti co cmonoi HILTI HY 150 pc 96
40 |Anchor bolt M20x280 C kancynoii co cmonoi HILTI HY 150 pc 132
41 [Anchor bolt M20x620 C kancynoit co cmosnoit HILTI HY 150 pc 16




_: 3
- o & B £
© 9 S . S g S |Total
. T2 = |Mapka martepuana / Material |Crangapt / ~ 2 o R
HaumeHosaHue / Title S = ~ s ® — |weight
E ] ® (Mark Standard Z 0 5
s < s s E a (kg.
- S o =
S8 = §
1 ] O Tube @ 60,3x8 GOST 8732-78 8.00 | @ 60.3| 6000 | 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 R.M | 42.0 433.35
2 | O Tube @ 89x11 GOST 8732-78 11.00| @ 89 | 6000 | 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 R.M 6.0 126.95
3 | O Tube @ 114x8 GOST 8732-78 8.00 | @ 114|6000| 09r2C Gr KM 245 ( boiling 245) GOST 8479-70 R.M | 18.0 376.41
4 | O Tube @ 219x12 GOST 8732-78 8.00 | @ 1219|6000 | 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 R.M 6.0 249.76
5 | O Tube @ 273x8 GOST 8732-78 8.00 | @ 273|6000| 09r2C Gr KM 245 ( boiling 245) GOST 8479-70 R.M 6.0 313.68
6 | O Tube @ 325x10 GOST 8732-78 10.00| @ 3256000 | 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 R.M 6.0 466.07
7 | O Tube @ 60,3x5,6 ASTM A312 stainless 5.60 | @ 60.3| 6000 TP321 ASTM A-312 R.M 6.0 45.62
8 | O Tube @ 60,3x8,74 ASTM A312 stainless 8.74 | @ 60.3| 6000 TP321 ASTM A-312 R.M | 12.0 134.22
9 | O Tube @ 88,9x7,62 ASTM A312 stainless 7.62 | @ 88.9| 6000 TP321 ASTM A-312 R.M 6.0 92.23
10 | O Tube @ 88,9x11 ASTM A312 stainless 11.00| @ 88.9] 6000 TP321 ASTM A-312 R.M 6.0 127.61
11 | O Tube @ 114,3x8,56 ASTM A312 stainless 856 | @ 1146000 TP321 ASTM A-312 R.M 6.0 134.79
12 | O Tube @ 168,3x10,97 ASTM A312 stainless 1097| @ 168 6000 TP321 ASTM A-312 R.M 6.0 257.02
13 | O Tube @ 219,1x6,35 ASTM A312 stainless 6.35 | @ 219 6000 TP321 ASTM A-312 R.M 6.0 201.19
14 | O Tube @ 273,1x12,7 ASTM A312 stainless 12.70| @ 273 6000 TP321 ASTM A-312 R.M 6.0 492.49
15 | O Tube @ 323,9x8,38 ASTM A312 stainless 838 | @ 3246000 TP321 ASTM A-312 R.M 6.0 393.75
16 | O Tube @ 355,6x6,35 ASTM A312 stainless 6.35 | @ 356 6000 TP321 ASTM A-312 R.M 6.0 330.27
17 |Flange 2% Cl.300 WN RF t=8 ASME B16.5 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 pc 62 0.00
18 |Flange 2% Cl.600 WN RF t=8 ASME B16.5 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 pc 1 0.00
19 |Flange 3% Cl.150 WN RF t=11 ASME B16.5 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 pc 1 0.00
20 JFlange 4% Cl.150 SO RF ASME B16.5 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 pc 10 0.00
21 JFlange 4% Cl.150 WN RF t=8 ASME B16.5 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 pc 11 0.00
22 |Flange 8% Cl1.150 WN RF t=12 ASME B16.5 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 pc 2 0.00
23 JFlange 8% CI1.300 WN RF t=12 ASME B16.5 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 pc 1 0.00
24 |Flange 10%& Cl.300 WN RF t=8 ASME B16.5 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 pc 3 0.00
25 JFlange 124 Cl.150 WN RF t=10 ASME B16.5 09r2C Gr KN 245 ( boiling 245) GOST8479-70 pc 1 0.00
26 |Flange 20%& Cl.150 WN RF t=8 ASME B16.5 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 pc 5 0.00
27 |JFlange 20% Cl.150 WN RF t=16 ASME B16.5 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 pc 1 0.00
28 |JFlange 24% C1.300 WN RF t=16 ASME B16.5 09r2C Gr KN 245 ( boiling 245) GOST 8479-70 pc 3 0.00
29 Fla.nge 2% C1.300 WN RF t=8,74 ASME B16.5 F321 ASTM A182 o 30 0.00
stainless
Flange 3% Cl.150 WN RF t=7,62 ASME B16.5
30 |8 F321 ASTM A182 oc | 1 0.00
stainless
Flange 3% C1.300 WN RF t=7,62 ASME B16.5
3 |8 F321 ASTM A182 oc | 1 0.00

stainless




Flange 4% C1.150 WN RF t=8,56 ASME B16.5

32 . F321 ASTM A182 pc 1 0.00
stainless
33 Fla.nge 8% C1.300 WN RF t=6,35 ASME B16.5 F321 ASTM A182 oc 2 0.00
stainless
34 Fla.nge 10% CI1.300 WN RF t=12,7 ASME B16.5 F321 ASTM A182 oc 1 0.00
stainless
35 Fla.nge 12% CI1.300 WN RF t=8,38 ASME B16.5 F321 ASTM A182 oc 1 0.00
stainless
36 Fla.nge 14% C1.300 WN RF t=6,35 ASME B16.5 F321 ASTM A182 oc 1 0.00
stainless
37 Fla.nge 24% Cl.300 WN RF t=14,27 ASME B16.5 F321 ASTM A182 oc 1 0.00
stainless
38 |Bolt %% x 40 ASME B18.21 stainless Gr.B8 Cl.2 SA-193 pc 14 0.00
39 |Bolt %% x 45 ASME B18.21 stainless Gr.B8 Cl.2 SA-193 pc 24 0.00
40 |Bolt M16 x 80 ASME B18.2.3.5M stainless Gr.B8 Cl.2 SA-193 pc 9 0.00
41 |Bolt M24 x 90 ASME B18.2.3.5M stainless Gr.B8 Cl.2 SA-193 pc 7 0.00
42 |Stud %% x 90 ASME B18.31.2 stainless Gr.B8 Cl.2 SA-193 pc 291 0.00
43 IStud 1%#% x 170 ASME B18.31.2 stainless Gr.B8 Cl.2 SA-193 pc 110 0.00
44 Split pin 5 x40 TOCT 397-79 galvanized Cr.3 GOST 380-2005 pc 7 0.00
45 |Nut Bbicokas %% ASME B18.2.2 stainless Gr.8 SA-194M pc 613 0.00
46 |Nut Bbicokas 1%& ASME B18.2.2 stainless Gr.8 SA-194M pc 221 0.00
47 |Nut Bbicokas M16 ASME B18.2.4.6M stainless Gr.8 SA-194M pc 9 0.00
48 INut Bbicokaa M20 ASME B18.2.4.6M stainless Gr.8 SA-194M pc 14 0.00
49 |Nut Bbicokas M24 ASME B18.2.4.6M stainless Gr.8 SA-194M pc 13 0.00
50 [Washer 16 GOST 11371-78 stainless stainless AlSI 321 ASME II D pc 179 0.00
51 [Washer 16 GOST 11371-78 galvanized Ct 3nc5 GOST 380-2005 pc 450 0.00
52 [Washer 20 GOST11371-78 galvanized Crt 3nc5 GOST 380-2005 pc 9 0.00
53 [Washer 24 GOST 11371-78 galvanized Ct 3nc5 GOST 380-2005 pc 10 0.00
54 [Washer 30 GOST 11371-78 galvanized Ct 3nc5 GOST 380-2005 pc 221 0.00




	1
	2

